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A | S | 2 | xopupop 1,8 1,8 2,66
9 | Tambyp 0,8 0,8
10 | kopuaop 5,5 55
11 | tyaner 1,1 1,1
12 | pyweBas 1,2 12
13 | caH.y3en 2,6 2,6
14 | caH.y3en 2,9 2,9
15 | pyweBas 3,8 3,8
16 | cayHa 4.4 4.4
17 | pasgeBanka 5,4 5,4
18 | kopugop 2,7 2,7
19 | nogcobHoe nomelleHne 2,6 2,6
20 | macTepckas 16,6 16,6
21 | mactepckas 19,4 19,4
22 | kopugop 5,5 5.5
23 | TennoBou y3en 10,7 10,7
24 | knagoBas 15,0 15,0
25 | macTepckas 13,8 13,8
26 | kopugop 7,4 7,4
27 | kopugop 240 2,7
28 | knagoBasd 2,9 2,9
29 | necTtHuua 2,8 2,8
MTOro no yok. ataxy: 131,6 | 64,8 66,8
1 1 | kabuHeT 18,5 | 18,5 2,56
2 | kabuHeTt 7,2 7,2
3 | kopngop 4,8 4,8
4 | kabuHeTt 22,2 22,2
5 | tambyp 1,5 1,5
6 | NecTHu4Has KneTka 10,3 10,3
7 | KyxHsa 5.7 5,7
8 | caH.y3en 2,2 2,2
9 | kopugop 2,0 2,0
10’ | kabuHeT 15,4 15,4
11 ' | kabuHeTt 8,0 8,0
12 | kabuHeT 18,6 18,6
13 | ymbiBanbHas 8,0 8,0
14 | Tyanet 1,3 %
15 | Tyanet 1,3 1,3
16 | knapoBas 2,0 2,0
17 | kabuHet 36,9 36,9
18 | kopugop 25,0 250
19 | kabuHet 13,5 13,5




